1010 1) (G(/()) =G (f) - ') = 9(f(@) - ')
Ainsi G(f(z)) est une primitive de g(f(z)) - f/(z).

On obtient donc la formule /g(f(x)) - f(z) de = G(f(x)) .

2) (a) sig(z) =1, alors G(z) = In(|z) :
f@) o, B IR
/f(rlr) f—x'f<fﬂ>dw—/g<f< ) - f(x)d

(b) si g(x) = €, alors G(z) = €” :
[ p@de = [ o(7@)  f@) iz = G(7(w) =
(c) sig(z) =sin(z), alors G(z) = — cos(z ) ;
/sin(f(:p)) f(@)de = [ g(f(z)) f'(z)dz = G(f(z)) = — cos(f(z))

(d) sig(x )—cos( ) alors G(z)

/cos x)dz —/ 7 ' = G(f(z)) =sin(f(z))
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